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Introduction  
There   are   some   complex   steps   on   stock   Ubuntu   to   complete   MOK   enrollment   while   user  
manual   installs   dkms   packages.   So   I   write   this   document   as   a   convenient   guidance.  

Steps   on   Stock   Ubuntu  

User   login   and   install   dkms   manually:  
Here   we   take   an   example   of   user   installing   acpi-call-dkms   when   secureboot   be   enabled.  
Step   1:   user   installing   acpi-call-dkms  
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Step   2:   user   get   prompt   for   mok   enrollment  
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Step   3:   The   user   decides   a   password   phrase.    NOTE:   please   write   down   this   password,   it  
will   be   asked   again   in   the   next   boot   in   the   shim.  
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In   the   next   boot:  
BIOS   will   boot   into   the   shim   and   ask   the   user   to   complete   the   MOK   enrollment.    NOTE:  
This   screen   will   be   skipped   after   6   seconds   without   operation.  
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Please   enter   the   password   phrase   that   you   inputted   in   the   above   step3.  
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